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OBJECTIVE PART
Q No 1: Tick the correct Answer. (10x1=10)

(i)In order to measure current through resistance ammeter is connected with circuit.
e btz st LHale /2 5L enp

(a) Series (b) Parallel (c)BothA & B (d) None of These
(ii) Specific resistance of iron is -Lg_m;‘ff?u;)
(a) 9.8x10°0hm-m (b) 10.6x10®°0hm-m (c) 1.69x10%chm-m (d) 100x10ohm-m
(iii) The value of refractive index air is

-9_~,2Jufj:ly"&//}£m
(@) 1.33 (b) 1.31 (c) 1.00 (d) 1.52
(iv) The loudness of sound mostly related to:- L LB donT
(a Frequency (b) Period (c)Wave length (d) Amplitude
(v) Critical angle of water is -+vnﬁlﬁj K&g
(a) 48.8° (b) 47.9° (c) 49° (d) 50°
(vi) One watt is equal to

-‘g/,l/,b‘ui:b{l

(@) Js (b) JS™* (c)J (d)s
(vii)Period of simple pendulum does not depend on its r/gﬁ’/f"4 ———————— ﬁ;g(’e{/,g’;w
(@) length (b) mass (c) Amplitude (d)BothB&C

(viii)a turn rations of transformer is 10. It means
?‘Lg”/l{u’i.‘au')gﬁlfu)’J//Wl)’

(a) 1s=10Ip (b) Ns=10Np (c) Ns=Np/10 (d)Vs=Vp/20
(ix)Equation of NAND gate is—__ _ bl NAND
@X=A (b) X=A.B (c)X=A+B (d) None of These

(x) A string is stretched by two equal and opposite force of 10N each. The tension in string.
i

-g)’ffb‘:u:Lf/u:&/!‘u"‘jj(j‘/jd/}._ﬂg/}'/.[/,}J‘)(Jijuﬁ(:d/-p/
(a)Zero (b) 5N (c) 10N (d) 20N




SUBJECTIVE PART
SECTION -1

Q No. 2: Write short answers to any five questions. (08%x02=16)

On what factors secondary voltage of transformer depends on?
?Lgt'//;,/lefJ/éud/,@CK//Wl)’
What is displacement of an object in SHM when kinetic and potential energies are same?
€U LIP AR B bl e 62 (&t F o v A S

What is meant by intensity of sound? Write its unit.

<ﬂ U1l A SRS
iv.  Differentiate between electric potential and potential energy.
TGP AGH I g S g B
v.  Draw symbol diagram of NOR gate and write its Boolean expressions.
PG S S K2 S NOR
vi.  Lenz law is manifestation of law of conservation of energy. Why?
?4/_9;)&}6/0}70'Z:U')iu)"/i&/'lujﬁ'gfld
vii.  How many watt-hours are there in 1000 J.
e snTehZ J410007
viii.  Converts 17 years in seconds.
SECTION 11
Attempt the following long question. (4x2=8)
Q No. 3: Derive second equation of motion.
'Q:/}’&”L/‘d/}}d/b“f’//

Q No. 4: What is transformer? Explain the working of transformer in detail.

«Q/u&Mc,b/((d”;?%n/tfa//w}



